
I.D.:	86227413

piese	schimb	utilaje	agricole,irigatii

Data
publicarii

22.08.23 Coduri	CPV 34913000-0

Pretul
estimativ:

8.768,89	RON	-	8.768,89	RON 	 	

Descriere: Anv.	16.0/70-20	petlas	1x1760.50,	camera	16.0/70-20	2x151.26,	anv.	650/16	XBKT
2X298,32,	CAM.650/16	2X47.06,	MUFA	FONTA	D200	1X529.41,	INEL	200	4X	16.8075,	CAPAC
VANA	HIDR.	4"	10X16.8070,	SURUB	VANA	HIDR.4"	5X46.218,	GARN	CAPAC	VANA	4"	10X5.882,
VENTIL	AUTO	15X0.42,	CAPACEL	AUTO	15X0.42,	ULEI	AMBRA	SUPER	GOLD	15W40	20L
1X487.39,	CUREA	10X1143	RUBENA	3X14.2867,	CONTACT	CU	CHEI	U650	1X16.81,	FILTRU	ULEI
2992242	1X63.03,	FILTRU	WK9048X	1X142.86,FILTRU	MOTORINA	1908547	1X58.82,	GARN
IRIGATII	PLATA	D-100	15X5.4620,	BRANSAMENT	4''	4X331.9325,	VANA	HIDRANT	METAL	4"	AS
3X331.9333,	MUFA	FONTA	D200	1X529.41,	INEL	200	10X16.8070,	RELEU	INCARCARE	1411
2X50.42,	FURTUN	HIDR.	8X2	L=800	1X105.04,	FILTRU	HIDR.HD517/1X	1X205.88,	PIUL
M12X1.25	10X1.6810,	SU	M6X50	10.9	30X0.8404,	SU	M6X30	10.9	50X0.84.04,	PIUL	M6
50X0.0840,	SU	M8X30	10.9	50X0.6722,	PIUL	M8	50X0.21,	SOL	SPALAT	PARBRIZ	5L	VARA
1X7.56,	ANTIGEL	CONC	G12	1X10.92,	RULM	32004	TK	2X25.21,	DISC	125X1.6	50X5.8824,	DISC
125X6	10X12.605


